

Write the two numbers that add up to 10 and then write the final answer by adding the other number to 10. The first one is done for you.

$$\begin{array}{l} 7 + 9 + 3 = \\ \underline{7} + \underline{3} = 10 \\ 10 + \underline{9} = \underline{19} \end{array}$$

$$\begin{array}{l} 8 + 4 + 2 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 4 + 3 + 6 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 5 + 6 + 5 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 9 + 4 + 1 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 2 + 8 + 7 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 3 + 7 + 7 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 6 + 4 + 7 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 3 + 5 + 7 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 2 + 9 + 1 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 2 + 5 + 8 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 5 + 5 + 1 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 8 + 4 + 2 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 9 + 1 + 2 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{l} 3 + 6 + 7 = \\ \underline{\quad} + \underline{\quad} = 10 \\ 10 + \underline{\quad} = \underline{\quad} \end{array}$$